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Q6. __________ is the synonym of "COMMEMORATE". 
 

A. Gather B. Enjoy 

C. Remember D. Manipulate 

 

Q7. __________ is the antonym of "STAUNCH". 
 

A. Disloyal B. Strict 

C. Adamant D. Reluctant 

 

Q8. Identify the meaning of the idiom in the sentence. 

"The opponents are six times winners of the trophy; you'll have to step up your game to 

qualify for the finals." 
 

A. Start performing better B. Meet the referee 

C. Do something unexpected D. Change the game strategy 

 

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence. 

"The swimmer was dragging away on the shore by a strong current." 
 

A. The swimmer is dragged away from the shore 

by a strong current. 

B. The swimmer was dragged away at the store 

by a strong current 

C. The swimmer was dragged away from the 

shore by a strong current. 

D. The swimmer was dragging on the shore by a 

strong current. 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 

It was pitch dark; however, there ________ (be) a ray of light that came from the farmer's 

hut. 
 

A. was B. is 

C. can be D. could be 

 

Q11. Union Railway Minister Shri Piyush Goyal recently dedicated India's first Railway 

University to the nation. This university is in _________. 
 

A. Jagadhri B. Patiala 

C. Jodhpur D. Vadodara 
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Q11. �O �I0 1Oल /�}I ्䵦I +I0K? �K0ल )O A?ल AI /O .?1- �? +Aल? 1Oल=O ==�==o?ल0 1?�र �K @/=+?- =�0?। 0A ==�==o?ल0 

_________ /O AP। 
 

A. ��?/1I B. +�?0?ल? 

C. �K/+I1 D. =*K.1? 
 

Q12. Who was the British Governor General when India became a free nation? 
 

A. Sir Winston Churchill B. Lord Mountbatten 

C. Clement Richard Attlee D. Viscount Wavell 

Q12. �- .?1- ए� }=-�} 1?�र -)? �@ @/0 =?=ि> �=)?1 �)1ल �L) .O? 
 

A. 91 ==ि㼂}?0 �}�?ल B. लI*? /?�ि㼂 ?-O?0 

C. ]लO/े䜂? 91�*? �?लI D. ==}�?�ि㼂 ? =O=Oल 

 

Q13. The ________ community demonstrated one of the earliest "Chipko Movement" to 

prevent felling of trees and destruction of forests. 
 

A. Ahir B. Ghujjar 

C. Bania D. Bishnoi 

Q13. =L�K �ी �ि?� �1 ���लK �O  ==)?> �K 1K�)O �O  =लए @-@O +AलO ________ @/J/?0 )O "=?+�K ��/Kल)" =�0? .?। 
 

A. 
:I1 B. �Iजᱍ�1 

C. -)00? D. --�0K� 
 

Q14. Yakshagana is an important _______ of Karnataka and some parts of Kerala. 
 

A. Folk music B. Folk theatre 

C. Classical dance D. Classical music 
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Q14. 0��?)?, �O 1ल �O  �J � =A}@K �1 �)??ि� �? ए� /Am=+K}? _______ AP। 
 

A. लK� 9ि㼂�I, B. लK� 0?टὍ0 

C. >?}रI0 0mृ0 D. >?}रI0 9ि㼂�I, 

 

Q15. Kunal, the pre-harappan site, was discovered in Haryana at _____________. 
 

A. Hisar B. Fatehabad 

C. Sirsa D. Bhiwani 

Q15. +K=?-A=प⩍+) }.ल - �J }?ल, Aर10?}? /O _________ /O +?0? �0? .?। 
 

A. �:9?1 B. ,,O:?-?. 

C. स919? D. स?=?0I 
 

Q16. When the President rule was imposed for the first time on Haryana State, who was the 

President of India? 
 

A. Shri Rajendra Prasad B. Shri V.V. Giri 

C. Dr Zakir Hussain D. Shri S. Radhakrishnan 

Q16. =�@ @/0 Aर10?}? 1?जᱍ0 +1 +AलI -?1 1?�र+=- >?@) ल?�K =�0? �0? .?, �@ @/0 .?1- �O  1?�र+=- �L) .O? 
 

A. ्䵦I 1?�Ooर �9?. B. ्䵦I =I.=I. �I1I 

C. *I. �?��1 :I9P0 D. ्䵦I �9. 1?/?�ृ�+0 

 

Q17. Prithvi Raj Chauhan was defeated in the Second Battle of Tarain by __________. 
 

A. Mahmud Ghazni B. Muhammad Ghori 

C. Qutb-ud-din Aibak D. Akbar 

Q17. +Lm=I 1?� ?LA?), -1?� � �ी /K@1I ल=?� /O __________ @O A?1 �ए .O। 
 

A. /:/.ू �ज᰼0I B. /K:म⹍/. �K1I 

C. �I ,I--�.-.I0 �-� D. 
�-1 
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Q18. As on 1-April-2019, Shri Satyadev Narayan Arya is the current _______ of Haryana. 
 

A. Speaker of the Assembly B. Chief Electoral Officer 

C. Chief Justice D. Governor 

Q18. 1-
�Pल-2019 -�, ्䵦I @m0/O= )?1?0} �0? Aर10?}? �O  =-?/?) /O _______ Aै䠂। 
 

A. ==/?09?? 
o0� B. /I_0 �I0?= 
}/�?1I 

C. /I_0 o0?0?/I> D. 1?जᱍ0+?ल 

 

Q19. Under the recently announced Uchch Shiksha Loan Yojana by the Haryana Government, 

which of the following is NOT a criterion for eligibility? 
 

A. The applicant should be the permanent 

residence of Haryana. 

B. The applicant should be at least 12th passed. 

C. The age of girl should be 18 years or above. D. The girl must belong to any of the Scheduled 

classes. 

Q19. Aर10?}? @1�?1 �?1? A?ल AI /O  K=?- �चᩍ? =>�? �} 0K�)? �O  -A-, +?}-? �O  =लए =)म⹍)=ल=?- /O @O �L) @? ए� /?+/�) )AK AP? 
 

A. �=O.� :910?+? �? }-?0I )0=?9 :K0? �?�:�। B. �=O.� �/ 9O �/ 12 =Iि㼂 +?9 :K0? �?�:�। 

C. ल=�I �I �0I 18 =}? 0? �99O 
}/� :K0I �?�:�। D. ल=�I ��9I ?I 
0I9}ू�, =�? �I :K0I �?�:�। 
 

Q20. As on 1-April-2019, Shri Krishan Pal Gurjar serves as the Minister of State for Social 

Justice and Empowerment in Government of India. He was elected from __________ 

constituency in Haryana. 
 

A. Ambala B. Jind 

C. Faridabad D. Sirsa 

Q20. 1-
�Pल-2019 -�, ्䵦I �L �}+?ल �J�?1 .?1- @1�?1 /O @?/?=�� m0?0 �1 
=?�?र1-? 1?जᱍ0 /�}I �O  z+ /O �?0?1- 1AO Aै䠂। =A 
Aर10?}? /O __________ =)=???) �O} @O ?J)O �ए .O। 

 

A. 
ि㼂-?ल? B. �Iि㼂. 

C. ,1I.?-?. D. स919? 
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Q21. How many players from Haryana found a place in the recently announced World Cup 

Squad for the ICC World Cup 2019? 
 

A. 0 B. 1 

C. 2 D. 3 

Q21. ICC ==� �+ 2019 �O  =लए A?ल AI /O  K=?- ==� �+ �ी िI/ /O Aर10?}? �O  =�-)O =?ल?==0K �K ��A =/लI AP? 
 

A. 0 B. 1 

C. 2 D. 3 

 

Q22. The Defence Minister of India formally inaugurated the Information Fusion Centre - 

Indian Ocean Region (IFC-IOR) at ________, Haryana. 
 

A. Gurugram B. Panchkula 

C. Ambala D. Panipat 

Q22. .?1- �O  1�? /�}I )O �+??र1� z+ @O @K?)? @�ल0) �O � - =A�/ /A?@?�1 �O} (IFC-IOR) �? ________ , Aर10?}? /O 
��?ि) =�0?। 

 

A. �Iy्䵇?/ B. +ि㼂��I ल? 

C. 
ि㼂-?ल? D. +?0I+, 

 

Q23. In the ________ dance form, girls stand in two rows and the song is in the form of 

questions and answers between the girls. 
 

A. Loor B. Dhamal 

C. Daph D. Gugga 

Q23. ________ )Lm0 z+ /O, ल==�0?� /K +�=ि0K /O ?=I AK-I Aै䠂 �1 �?)? �) ल==�0K �O  -I? ��-�m1 �O  z+ /O AK-? AP। 
 

A. ल1ू B. //?ल 

C. *, D. �I_�? 
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Q24. _________ dance is exclusively performed by men. 
 

A. Gugga dance B. Daph 

C. Raas Leela D. Phag 

Q24. _________ )Lm0 ==>O? z+ @O +Jy?K �?1? =�0? �?-? AP। 
 

A. �I_�? 0mृ0 B. *, 

C. 1?9 लIल? D. ,?� 

 

Q25. Who was the first official state poet of Haryana? 
 

A. Nishchal Das B. Vakpatiraja 

C. Vishnu Prabhakar D. Uday Bhanu Hans 

Q25. Aर10?}? �O  +AलO �=?�?र1� 1?��ी0 �== �L) .O? 
 

A. )0��ल .?9 B. =?]+),1?�? 

C. ==�+I �??�1 D. �.0 ??0I :ि㼂9 

 

Q26. Which is the second highest literary award in India? 
 

A. Sahitya Academi Award B. Sahitya Academi Fellowship 

C. Jnanpith D. Saraswati Samman 

Q26. .?1- /O /K@1? @=Kचᩍ? @?=A=m0� +J1}�?1 �L) @? AP? 
 

A.  B.  

C.  D.  

 

Q27. Sahitya academy recognizes _______ Indian languages and one literary award is given for 

works in each language. 
 

A. 22 B. 20 

C. 24 D. 18 
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Q27. @?=Am0 
�?//I _______ .?1-I0 .???� � �K /?m0-? /O-? AP �1 �m0O� .??? /O ए� 1?)? �O  =लए ए� @?=A=m0� +J1}�?1 =/0? 
�?-? AP। 

 

A. 22 B. 20 

C. 24 D. 18 

 

Q28. The river Markhanda is the tributary of _________ river. 
 

A. Ghaggar B. Yamuna 

C. Kaushalya D. Dangri 

Q28. /?�� ) )/I, _________ )/I �ी @A?0� )/I AP। 
 

A.  _�1 B. 0/I0? 

C. �L>ल㉍0? D. *?ि㼂�1I 
 

Q29. Which canal emerges from the Hatni kund barrage (Dam)? 
 

A. Bhiwani Canal B. Western Yamuna Canal 

C. Indira Gandhi Canal D. Gurgaon Canal 

Q29. A.)I �J� ) -P1?� (-?�?) @O �L) @? )A1 =)�ल-? AP? 
 

A. स?=?0I 0:1 B. +���/I 0/I0? 0:1 

C. �ि㼂�.1? �?ि㼂/I 0:1 D. �I=�?ि㼂= 0:1 
 

Q30. Where is Kaushalya dam located? 
 

A. Palwal B. Pinjore 

C. Mohan Nagar D. Babiyal 

Q30. �L>ल㉍0? -?�? �A?? =}.- AP? 
 

A. +ल=ल B. =+ि㼂�L1 

C. /K:0 0�1 D. ---0?ल 
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Q31. Identify the district that is irrigated by the Western Yamuna Canal. 
 

A. Jhajjar B. Faridabad 

C. Sonipat D. Mahendragarh 

Q31. +=?/I 0/J)? )A1 �?1? =@�=?- =�लO �? )?/ --?ए�। 
 

A. �जᱍ�1 B. ,1I.?-?. 

C. 9K0I+, D. /:े䜂र�? 
 

Q32. How many deer parks are there in Haryana? 
 

A. 1 B. 2 

C. 4 D. 0 

Q32. Aर10?}? /O =�-)O =A1} +?�?  Aै䠂? 
 

A. 1 B. 2 

C. 4 D. 0 

 

Q33. Each municipal area is divided into territorial constituencies known as _______. 
 

A. Panchayat B. Wards 

C. Zila Samiti D. Districts 

Q33. �m0O� )�1+?=ल�? �O} �K �?/O=>� �O}K /O ==.?=�- =�0? �0? AP =�@O _______ �A? �?-? AP। 
 

A. +ि㼂�?0, B. =?*? 

C. ��ल? 9स/), D. ��ल? 
 

Q34. Executive Powers of Municipal Corporations are vested in___________. 
 

A. Deputy Mayor B. District Judge 

C. Municipal Commissioner D. Mayor 
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Q34. )�1 =)�/K �O  �+ /A?+L1 �ी =)0J=ि �L) �1-? AP? 
 

A. *Oo0I?I /O01 B. ��ल? o0?0?/I> 

C. 0�1 �0I], D. /:?+L1 
 

Q35. Who appoints the Deputy Mayor of Municipal Corporations? 
 

A. Municipal Commissioner B. Mayor 

C. Councellor D. District Judge 

Q35. )�1 =)�/K �O  �+ /A?+L1 �ी =)0J=ि �L) �1-? AP? 
 

A. 0�1 �0I], B. /:?+L1 

C. +1?/>?.?,? D. ��ल? �� 

 

Q36. To open find window, which function key is used? 
 

A. F1 B. F2 

C. F3 D. F4 

Q36. ==�)K ?K�)O �O  =लए, =�@ +� ]>) �J� �I �? �+0K� =�0? �?-? AP? 
 

A. F1 B. F2 

C. F3 D. F4 

 

Q37. Which is the best-known bird sanctuary in Haryana? 
 

A. Sultanpur B. Bharatpur 

C. Rajaji D. Sariska 

Q37. Aर10?}? �? @-@O �=@p +�I 
.0?1o0 �L) @? AP? 
 

A. 9Iल㉍,?0+I1 B. ?1,+I1 

C. 1?�?�I D. 991}�? 
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Q38. The Chief Minister of Haryana, Manohar Lal Khattar, launched the 'Mhara Gaon Jagmag 

Gaon' on July 1, 2015. What is the main aim of this scheme? 
 

A. Build toilets in villages B. Paint the villages in a uniform colour 

C. Provide 24-hour uninterrupted power supply to 

villages 

D. Keep the villages neat and clean 

Q38. Aर10?}? �O  /J_0/�}I /)KA1 ल?ल ?्䴾1 )O 1 �Jल?� 2015 �K '
+)? �?�= ��/� �?�=' �? >J.?1�. =�0?। �@ 0K�)? �? /J_0 �oO�0 
]0? AP? 

 

A. �?ि㼂=ो䬂 /े䜂 >L�?ल0 -0?0? B. �?ि㼂=ो䬂 �K �� �P9O 9/?0 1ि㼂� 9O +े䜂? �10? 

C. �?ि㼂=ो䬂 �K 24  ि㼂?O �I )0-??/ --�लI �+)ू,? �.?0 �10? D. �?ि㼂=ो䬂 �K 9?,-9I-1? 1�0? 
 

Q39. Which of the following option represents storage unit from largest to smallest? 
 

A. Bits, Bytes, Kilobytes, Megabytes B. Bytes, Bits, Kilobytes, Megabytes 

C. Megabytes, Kilobytes, Bytes, Bits D. Megabytes, Kilobytes, Bits, Bytes 

Q39. =)म⹍) /O @O �L) @? ==�ल㉍+ @-@O -=I @O �KिI @O �KिI .�)?1} ��?� �? �=-=)=?m= �1-? AP? 
 

A. --टὍ9, -?�टὍ9, ��लK-?�टὍ9, /O�?-?�टὍ9 B. -?�टὍ9, --टὍ9, ��लK-?�टὍ9, /O�?-?�टὍ9 

C. /O�?-?�टὍ9, ��लK-?�टὍ9, -?�टὍ9, --टὍ9 D. /O�?-?�टὍ9, ��लK-?�टὍ9, --टὍ9, -?�टὍ9 

 

Q40. Pick the odd one out. 

Uranium, Radium, Caesium, Calcium 
 

A. Uranium B. Radium 

C. Calcium D. Caesium 

Q40. 
@��- �? ?0) �1O। 
0K1O=)0/, 1O=)0/, @I=?0/, �P =ल㉍>0/ 

 

A. 01ूO)00/ B. 1O)*0/ 

C. �P �ल㉍>0/ D. 9I�ज᰼0/ 
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Q41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in 

this pair: 

Perseverance: Success :: 
 

A. Curiosity:Knowledge B. Money : Wealth 

C. Student:Book D. Dance : Performance 

Q41. @AI ==�ल㉍+ ?J)O �K =)म⹍)=ल=?- �K=I �P@? @म⹍-m? =/??-? AK: 
o?-? : @,ल-? :: 

 

A. ��_?9?: _?0 B. +P9? : /0 

C. �?र : +I},� D. 0mृ0 : �.>?0 

 

Q42. Find the analogy 

144:13:: 256: ? 
 

A. 289 B. 324 

C. 17 D. 31 

Q42. @/?)-? *K�*O। 
144 : 13 :: 256 : ? 

 

A. 289 B. 324 

C. 17 D. 31 

 

Q43. In a coding system, if HEAD is coded as EYE, EYE is coded as NOSE, NOSE is coded as 

MOUTH, MOUTH is coded as TONGUE,and TONGUE is coded as TEETH,then; name 

the part of the body that is used to smell? 
 

A. MOUTH B. TONGUE 

C. TEETH D. HEAD 

Q43. ए� �K) .??? /O, 0=/ 8=@19 �K 8�??9, 8�??9 �K 8)?�9, 8)?�9 �K 8/J�A9, 8/J�A9 �K 8�I.9, 8�I.9 �K 8/?�-9 �A? �?-? AP, 
-K >1I1 �O  �@ 
�� �? )?/ ]0? AK�? =�@�? �}-O/?ल @K� )O �O  =लए =�0? �?-? AP? 

 

A. /Iि㼂: B. �I? 

C. .?ि㼂, D. स91 
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Q44. In a factory, the sales of a product increases from 30 thousand units to 45 thousand units 

per year. What is the percentage of increase? 
 

A. 15% B. 20% 

C. 35% D. 50% 

Q44. ए� �?1??)O /O, ए� �m+?/ �ी =-्䵅ी ए� @?ल /O 30 A�?1 ��?� @O -?�1 45 A�?1 ��?� AK �� AP। =L=p �? �=->- =�-)? AP? 
 

A. 15% B. 20% 

C. 35% D. 50% 

 

Q45. 

 

 

A. 8 B. 80 

C. 20 D. 40 

Q45. 

 

 

A. 8 B. 80 

C. 20 D. 40 

 

Q46. Rinku buys a book for Rs. 250 and sells it at a loss of 15%. What is the selling price of the 

book? 
 

A. 210.25 B. 225.75 

C. 212.50 D. 234.75 

Q46. र1��K  250 y+0O /O ए� +J}-� ?1I/-? AP �1 �@O 15% �O  )J�@?) +1 -O?-? AP। +J}-� �? ==्䵅0 /Kल㉍0 =�-)? AP? 
 

A. 210.25 B. 225.75 

C. 212.50 D. 234.75 
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Q47. If 4x - 15 = 9 - 2x, what is the value of x? 
 

A. 3 B. 2 

C. 6 D. 4 

Q47. 0=/ 4x - 15 = 9 - 2x AK -K x �? /?) =�-)? AP? 
 

A. 3 B. 2 

C. 6 D. 4 

 

Q48. The audible range of the average human ear is__________________. 
 

A. Below 20 Hz B. Equal to 20,000 Hz 

C. Between 20 Hz to 20,000 Hz D. Above 20,000 Hz 

Q48. �@- /?)= �?) �ी ्䵦}0 @I/? __________________ AK-I AP। 
 

A. 20 Hz 9O �/ B. 20,000 Hz �O  -1?-1 

C. 20 Hz 9O 20,000 Hz �O  -I� D. 20,000 Hz 9O 
}/� 

 

Q49. What is the chemical name of washing soda? 
 

A. Sodium bicarbonate B. Sodium carbonate 

C. Sodium chloride D. Sodium hydroxide 

Q49. =Q=>�� @K)? �? 1?@?0=)� )?/ ]0? AP? 
 

A. 9K)*0/ -?��?-ो0O? B. 9K)*0/ �?-ो0O? 

C. 9K)*0/ ]लK1?�* D. 9K)*0/ :?�्䵑I]9?�* 
 

Q50. When we add yeast to the cake dough, it ____________. 
 

A. increases warmth B. increases sweetness 

C. reduces sourness D. speeds up fermentation 
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Q50. �O � �O  �िO /O ?/I1 )?ल)O +1, ____________ 
 

A. �/ी -? �?,I :P B. स/)?9 -? �?,? :P 

C. �टὍ??+0 �/ :K �?,? :P D. ��o=0 �K �), .े䜂 
 

Q51. What is the criteria that the employer must ensure when the portable fire extinguishers are 

present? 
 

A. Should ensure that the extinguishers are 

located far away 

B. Should ensure that the extinguishers are not 

charged 

C. Should ensure that the extinguishers are 

decorated 

D. Should ensure that the extinguishers are fully 

charged and operate properly 

Q51. +KिO-ल 
=))>?/� 0�} �+=}.- AK)O +1 ]0? /?)/�) Aै䠂 =�mAO =)0Kि? �K @J=)=?- �1)? ??=Aए? 
 

A. 9I)0���, �10? �?�:� �� 
�_0>?/� 0ि㼂र -:I, .1ू �}-, 

:ै䠂 
B. 9I)0���, �10? �?�:� �� 
�_0>?/� 0ि㼂र �=Oस>, (�?�?) 
0:Iि㼂 :ै䠂 

C. 9I)0���, �10? �?�:� �� 
�_0>?/� 0ि㼂र 9I9�जᱍ�, :ै䠂 D. 9I)0���, �10? �?�:� �� 
�_0>?/� 0ि㼂र ++ू? z+ 9O 
�=Oस>, (�?जᱍ*?) �=ि㼂 )I� 9O 9ि㼂�?सल, :ै䠂 

 

Q52. How do you define electric current? 
 

A. Electric current flows from negativity charged 

to positively charged materials 

B. Electric current is the flow of materials 

C. Electric current is defined as the difference 

between the charged particles 

D. Electric current is defined as the measure of 

protons 

Q52. ==oJ- ??1? �K �+ �P @O +र1.?=?- �1O�O? 
 

A. ==द♍0I, /?1? �+?m/� y+ 9O �=Oस>, +.?-? 9O /0?m/� 

y+ 9O �=Oस>, +.?-? �I ओ1 �=?�:, :K,I :P। 
B. ==द♍0I, /?1? +.?-ो䬂 �? �=?: :P। 

C. �=Oस>, �+ो䬂 �O  /o0 
o,1 �K ==द♍0I, /?1? �:,O :ै䠂। D. �K?K0 �I /?र? �K ==द♍0I, /?1? �:,O :ै䠂। 
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Q53. What does the Ohm's law state? 
 

A. It states that the potential difference across the 

conductor is directly proportional to the flow of 

current. 

B. It states that the electrical current flows 

through is directly proportional to the potential 

difference across the conductors. 

C. It states that the charges across the conductor 

is directly proportional to the flow of current 

D. It states that the voltage across the conductor 

is directly proportional to the current flow in the 

conductor. 

Q53. �/ �? =)0/ ]0? �A-? AP? 
 

A. 0: �:,? :P �� 9ि㼂=?:� (�ि㼂 *]?1) /े䜂 ==?= 
o,1, /?1? �O  
�=?: �O  9I/O �0I+?),� :K,? :P| 

B. 0: �:,? :P �� �=?�:, :K0O =?लI ==द♍0I,I0 /?1? �ि㼂 *]?1 /े䜂 
==?= 
o,1 �O  9I/O �0I+?),� :K,I :P| 

C. 0: �:,? :P �� �ि㼂 *]?1 /े䜂 �=O> (�?�?) /?1? �O  �=?: �O  
9I/O �0I+?),� :K,? :P| 

D. 0: �:,? :P �� �ि㼂 *]?1 /े䜂 =Kल㉍?O� �9/े䜂 �=?�:, /?1? �O  
9I/O �0I+?),� :K,? :P| 

 

Q54. What is the mathematical form of Faraday9s first law of Electrolysis? 
 

A. m=ZQ B. m=Z/Q 

C. Z=-Q/m D. m=-Z/Q 

Q54. ,O 1?)O �O  ==oJ- 
+ ि) �O  �./ =)0/ �? �=}-I0 y+ ]0? AP? 
 

A. m=ZQ B. m=Z/Q 

C. Z=-Q/m D. m=-Z/Q 

 

Q55. What is the principle of Electromagnetism? 
 

A. A straight current carrying conductor which 

creates a circular magnetic field which is 

perpendicular to the conductor in a plane 

B. A straight current carrying circular magnetic 

field which creates lines of force that is parallel to 

each other 

C. A current carrying conductor that is 

cylindrically wound in a cylinder 

D. A current-carrying circular conductor that is 

parallelly wound in cylinder 
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Q55. ==oJ--?Jम⹍-�m= (�लO]रK/P))O=िजᱍ/) �? =@p?m- ]0? AP? 
 

A. �� }रO? �1ि㼂? �O 91�ि㼂� �ि㼂 *]?1 �K �� �� 9�I? ल1 /O_0O�?� 

�,ल㉍* 9�ृ�, �1,? :P �K �� �� oलO0 /े䜂 �ि㼂 *]?1 �O  लम⹍-=, 

:K,? :P। 

B. �� }रO? �1ि㼂? �O 91�ि㼂� 9�I? ल1 /O_0O�?� �,ल㉍* �K ल?�o9 

�, ,K9? 9�ृ�, �1,? :P �K �� ��-.9ू1O �O  9/?0?ि㼂,1 :K,I 
:ै䠂। 

C. �� �1ि㼂? �O 91�ि㼂� �ि㼂 *]?1 �K �� �� स9ले䜂*1 /े䜂 स9लOo्䵑I�लI 
=?�o* :K,? :P। 

D. �� �1ि㼂?-�O 91�ि㼂� 9�I? ल1 �ि㼂 *]?1 �K �� स9ले䜂*1 /े䜂 
+O1OलललI =?�o* :K,? :P। 

 

Q56. What is the importance of Earthing in Electrical system? 
 

A. Minimizes risk of electric shock. B. Electrifies the static charge. 

C. Accumulates the stray voltage. D. Eliminates the voltage. 

Q56. �लO=]र�ल =@}ि/ /O 
=.�� �? ]0? /Am= AP? 
 

A. --�लI �O  �?�O  (�लO�]र� >I� ) �K �/ �1,I :P| B. }-O),� �=O> �K ==द♍0I,I�ृ, �1,I :P| 

C. --�1O :I� =Kल㉍?O� �K ��-र, �1,I :P| D. =Kल㉍?O� �K �m/ �1,I :P| 
 

Q57. What are the two standard commercially available digital logic gate forms? 
 

A. SSI and MSI B. SOC and PIC 

C. TTR and ECL D. TTL and CMOS 

Q57. =)=�िल लK=�� �Oि �O  =?=}=जᱍ0� y+ @O �+लबⱍ? /K /?)� (}िOo))?) z+ �L)@O Aै䠂? 
 

A. SSI �=ि㼂 MSI B. SOC �=ि㼂 PIC 

C. TTR �=ि㼂 ECL D. TTL �=ि㼂 CMOS 

 

Q58. What are the two methods of Electrical wiring? 
 

A. CTS and TRS B. Tee system and Cleat system 

C. Joint box system and Loop-in system D. Caping system and Casing system 
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Q58. �लO=]र� =?0र1�� �ी /K ===?0?� ]0? Aै䠂? 
 

A. CTS �=ि㼂 TRS B. ?I स9}?/ �=ि㼂 ]लI? स9}?/ 

C. �I�ि㼂? -I]9 स9}?/ �=ि㼂 ल+ू-�0 स9}?/ D. �O =+ि㼂� स9}?/ �=ि㼂 �O स9ि㼂� स9}?/ 

 

Q59. Which instrument is used to measure the utility frequencies? 
 

A. Multimeter B. Electromagnetic Wattmeter 

C. Energy meter D. Tachometer 

Q59. �+0K=�-? �ी �=L=m (0K=ि=लिI �ी]=O@I) �K )?+)O �O  =लए �L)@? �+�1} �?/ /O लO-O Aै䠂? 
 

A. /�ल㉍?/I?1 B. �लO]रK/P_0O�?� =??/I?1 

C. �0�ी /I?1 D. ?O�K/I?1 
 

Q60. What is the high speed running capability of Universal Electric motor ? 
 

A. From 8,000 to more than 20,000 rpm B. From 2000 to more than 8000 rpm 

C. From 20000 to more than 80000 rpm D. From 800 to 2000 rpm 

Q60. 0K=)=@?ल �लO=]र� /Kि1 �O  ?ल)O �ी �चᩍ? �=- �/-? ]0? AP? 
 

A. 8000 9O 20000 rpm 9O 
}/� B. 2000 9O 8000 rpm 9O 
}/� 

C. 20000 9O 80000 rpm 9O 
}/� D. 800 9O 2000 rpm 

 

Q61. What do you mean by Instantaneous value of an Electric Current? 
 

A. It is the value of an alternating current at a 

particular distance in the cycle. 

B. It is the value of an instantaneous quantity in a 

cycle. 

C. It is the value of an alternating quantity in the 

cycle at a particular instant of time. 

D. It is the value of a quantity of time at a 

particular distance of the cycle. 
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Q61. ए� ==oJ- ??1? �O  -?m�?=ल� /?) @O �+�? -?m+0? ]0? AP? 
 

A. 0: �्䵅(9?��ल) /े䜂 �� ==>O} .1ूI +1 �� �m0?=,ी /?1? 
�? /?0 :P। 

B. 0: �� �्䵅 /े䜂 �� ,?m�?सल� /?र? �? /?0 :P। 

C. 0: �्䵅 /े䜂 9/0 �O  ==>O} �+ +1 �� �m0?=,ी /?र? �? 
/?0 :P। 

D. 0: �्䵅 �I .1ूI ==>O} +1 9/0 �I /?र? �? /?0 :P। 

 

Q62. What is the thermal conductivity of the aluminium metal ? 
 

A. 253 mk/W B. 235 W/mK 

C. 253 W/mk D. 235 mk/W 

Q62. एल㉍0J=/=)0/ ??-J �ी ��}-? @म⹍-m?I =?A�-? (./?ल �� )=]ि==िI) ]0? AP? 
 

A. 253 mk/W B. 235 W/mK 

C. 253 W/mk D. 235 mk/W 

 

Q63. What is the power dissipated by a transistor equal to at any given time? 
 

A. Equal to the product of collector-emitter 

voltage and collector current 

B. Equal to the product of power ratings and 

ambient temperature 

C. Equal to the ratio of collector current to the 

base current 

D. Equal to the ratio of collector-emitter voltage 

to the collector current 

Q63. =�@I =/ए �ए @/0 +1 ए� र?�=�}ि1 �?1? )� +?=1 =�@�O  @/?) AP? 
 

A. �लO]?1-�स/?1 =Kल㉍?O� �=ि㼂 �लO]?1-�1ि㼂? �O  �I+0,ल �O  
9/?0 

B. +?=1 1O�?ि㼂� �=ि㼂 =?,?=1+I0 ,?+/?0 �O  �I+0,ल �O  9/?0 

C. �लO]?1 �1ि㼂? �? -O9 �1ि㼂? �O  9?- 
0I+?, �O  9/?0 D. �लO]?1-�स/?1 =Kल㉍?O� �? �लO]?1 �1ि㼂? �O  9?- 
0I+?, 

�O  9/?0 

 

Q64. What are the two types of coaxial cables used in the entertainment system? 
 

A. Yellow stripe & Red stripe B. Blue stripe & Orange stripe 

C. RG-95 & RG-9 D. RG-59 & RG-6 
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Q64. /)K1��) -�} /O �0Jि �Kए=]@0ल �O -ल �O  /K ��?1 ]0? Aै䠂? 
 

A. +IलI +टὍ?I �=ि㼂 ल?ल +टὍ?I B. 0IलI +टὍ?I �=ि㼂 0?1ि㼂�I +टὍ?I 

C. RG-95 �=ि㼂 RG-9 D. RG-59 �=ि㼂 RG-6 

 

Q65. What is the outer frame of the DC generator motor called? 
 

A. Commutator B. Yoke 

C. Armature D. Pole 

Q65. )I@I �)1Oि1 /Kि1 �? -?्䵨 �O / ]0? �Aल?-? AP? 
 

A. �म⹍0?ूO?1 B. 0K� 

C. �/े�1 D. +Kल 

 

Q66. What happens to time when braking torque decreases with an increase in the armature 

resistance? 
 

A. It decreases the time of regeneration B. It increases the time of braking 

C. It decreases the time of braking D. It increases the time of regeneration 

Q66. �- �/O?1 �=-1K? /O =L=� �O  @?. ?O=�� � िK�?  �/ AK-? AP -- ]0? AK-? AP? 
 

A. 0: 91�01O>0 �O  9/0 �K �/ �1,? :P B. 0: }O��ि㼂 � �O  9/0 �K -??,? :P 

C. 0: }O��ि㼂 � �O  9/0 �K �/ �1,? :P D. 0: 91�01O>0 �O  9/0 �K -??,? :P 
 

Q67. What is the ambient temperature range of the tachometer that it can handle? 
 

A. -30 to +70oC B. +30 to -70oC 

C. +20 to -70oC D. -20 to +70oC 

Q67. िO�K/Iि1 �O  =?-?=1}I0 -?+/?) �ी 1O� ]0? AP =�@O 0A AOm)ल �1 @�-? AP? 
 

A. -30 9O +70oC B. +30 9O -70oC 

C. +20 9O -70oC D. -20 9O +70°C 
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Q68. What are the two standards that guides the method of calculating efficiencies? 
 

A. I2R and ICE B. NEMA and IEC 

C. NAME and ICE D. NAME and I2R 

Q68. /K /?)� ]0? Aै䠂 �K =� �/-?� � �ी �})? �1)O =?लI ==?I �? /?�?/>?) �1-O Aै䠂? 
 

A. I2R �=ि㼂 ICE B. NEMA �=ि㼂 IEC 

C. NAME �=ि㼂 ICE D. NAME �=ि㼂 I2R 

 

Q69. What happens to torque when magnetic locking takes place to the synchronous motor? 
 

A. It becomes Zero B. It becomes infinity 

C. It is increased D. It is decreased 

Q69. =@m्䵅K)@ /Kि1 +1 �- ?Jम⹍-�ी0 -?ल?-�/I (/O))O=ि� लK=�� �) AK)O +1 िQ�?  +1 ]0? AK-? AP? 
 

A. 0: ज᰼I1K :K �?,? :P। B. 0: 
0ि㼂, :K �?,? :P। 

C. 0: -? �?,? :P। D. 0: �/ :K �?,? :P। 
 

Q70. What is the method adopted to reduce the parasitic capacitance effects between the 

primary coil and the secondary coil of the transformer? 
 

A. A method of winding a step up transformer B. A method of winding a step down transformer 

C. A method of winding in a parasitic capacitance D. A method of winding in a capacitive coupling 

Q70. र?�@,?/?1 �ी �?�/1I = @P�o)1I �Q�ल �O  /o0 +O1?@?�=ि� �O +O=@िO@ �,O ]ि �K �/ �1)O �O  =लए 
+)?0I �?)O =?लI ==?I ]0? AP? 
 

A. र?ि㼂9,?/?1 �K �� }?O+ 
+ =?�ि㼂)* ि㼂� �I �� ==}/ B. र?ि㼂9,?/?1 �K �� }?O+ *?�0 =?�ि㼂)* ि㼂� �I �� ==}/ 

C. +O1?9?��?� �O +Oस9?े䜂9 /े䜂 =?�ि㼂)* ि㼂� �I �� ==}/ D. �O +Oस9?I= �+सलि㼂� /े䜂 =?�ि㼂)* ि㼂� �I �� ==}/ 

 

Q71. What would be the coil span, if the span of the coil is reduced by  electrical degrees? 
 

A. 90 +  B. 180 -  

C. 180 +  D. 90 -  
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Q71. 0=/ �Q�ल }+?) �K  �लO=]र�ल =)्䵇I �?1?  ि?0? �?-? AP -K �Q�ल }+?) ]0? AK�?? 
 

A. 90 +  B. 180 -  

C. 180 +  D. 90 -  

 

Q72. Which part of the eye is responsible for dim light/night vision? 
 

A. Cones B. Retina 

C. Iris D. Rods 

Q72. ��? �? �L)@? =A}@? /�/ ��?>/1?=} o=� �O  =लए =�म⹍/O/?1 AP? 
 

A. �Ko9 B. 1O�?0? 

C. ��919 D. 1Kड⅍9 

 

Q73. What are the power-limited circuit cables in the control circuits? 
 

A. CL2, CL3 and PLTC B. CM, CMR and CMP.[2] 

C. 508 and 60947 D. M-8 and M-12.[3] 

Q73. �� रKल @=�? ि /O +?=1-=ल=/िO) @=�? ि �O -ल㉍@ �L)@I Aै䠂? 
 

A. CL2, CL3 �=ि㼂 PLTC B. CM, CMR �=ि㼂 CMP.[2] 

C. 508 �=ि㼂 60947 D. M-8 �=ि㼂 M-12.[3] 

 

Q74. What does the black wire in a Single phase 120V AC in NEC denote? 
 

A. Earth Conductor B. Neutral 

C. Phase or Line D. Line 2 

Q74. NEC /O =@��ल ,O @ 120V AC /O �?ल? -?1 ]0? ��=�- �1-? AP? 
 

A. 
-? �ि㼂 *]?1 B. o0रूल 

C. ,O 9 0? ल?�0 D. ल?�0 2 
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Q75. How do you define Contactor? 
 

A. It is a large relay which is used to switch the 

current to an electric motor or any other high-

power load. 

B. It is a small relay which is used to switch the 

voltage to an electric motor or any other high-

power load. 

C. It gives the relay the property of time-delay 

actuation. 

D. It gives the relay the property of voltage-delay 

actuation. 

Q75. �QmिO]ि1 �K �+ �P @O +र1.?=?- �1O�O? 
 

A. 0: �� ल?�? 91लO :P �K �� �� �लO�]र� /K?1 0? ��9I 
�चᩍ� �/,? ??1 �K �1ि㼂? �}=� �10O �O  �?/ �,? :P। 

B. 0: �� }/?ल 91लO :P �K �� �� �लO�]र� /K?1 0? �चᩍ� 

�/,? ??1 �K =Kल㉍?O� �}=� �10O �O  �?/ �,? :P। 

C. 0: 91लO �K ??�/-)*लO �]�I�>0 �? �I+ �.?0 �1,? :P। D. 0: 91लO �K =Kल㉍?O�-)*लO �]�I�>0 �? �I+ �.?0 �1,? :P। 
 

Q76. What is the use of anode in a water heater? 
 

A. It protects the tank from corrosion B. It is used to set the temperature to a certain 

value 

C. It is used for non-maintenance of the tank D. It is used for lowering the fuel consumption 

Q76. ए� =?ि1 AIि1 /O ए)K) �? ]0? �+0K� AP? 
 

A. 0: �1+ 9O ?े䜂� �K -�?,? :P। B. 0: �� )0���, /?0 ,� ,?+/?0 �K 9O? �10O �O  �?/ 

�,? :P। 

C. 0: ?े䜂� �O  0I0-/Oo?O0Oo9 �O  सल� �0I], :K,? :P। D. 0: ࠂई/0 �I �+, �K �/ �10O �O  �?/ �,? :P। 
 

Q77. Which one is an example for Impulse Turbine? 
 

A. Francis Turbine B. Pelton Turbine 

C. Kaplan Turbines D. Propeller Turbines 

Q77. ��+ल㉍@ ि1-?�) �O  =लए �L) @? �/?A1} AP? 
 

A. o?ि㼂स99 ?1-?�0 B. +Oल㉍?0 ?1-?�0 

C. �O oल?0 ?1-?�0 D. �K+Oल1 ?1-?�0 
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Q78. Which fuel is considered as the dominant Nuclear fuel in the Nuclear reactor? 
 

A. Aluminium B. Thorium 

C. Uranium D. Lithium 

Q78. m0K=]ल01 र1ए]ि1 /O �L)@O � �?) �K �/J? � �?) /?)? �?-? AP? 
 

A. �ल㉍0Iस/)00/ B. -K910/ 

C. 01ूO)00/ D. सल}-0/ 

 

Q79. What causes the rises and falls of the water levels in the sea during tides? 
 

A. It is caused by the gravitational attraction of 

the Water 

B. It is caused by the gravitational attraction of 

the Moon 

C. It is caused by the gravitational attraction of 

the Earth 

D. It is caused by the gravitational attraction of 

the Atmosphere 

Q79. जᱍ=?1-.?ि? �O  /L1?) @/J� /O +?)I �O  }-1 /O �-?1 ए=� ???= �? �?1} ]0? AP? 
 

A. 0: +?0I �O  �Iym=?�}?+ �O  �?1+ :K,? :P। B. 0: �oर/? �O  �Iym=?�}?+ �O  �?1+ :K,? :P। 

C. 0: +mृ=I �O  �Izm=?�}?+ �O  �?1+ :K,? :P। D. 0: =?,?=1+ �O  �Iym=?�}?+ �O  �?1+ :K,? :P। 
 

Q80. What is a breakdown voltage of an insulator? 
 

A. Insulators become conductive electrically when 

a large amount of voltage applied that makes the 

electrons flow away from the atom. 

B. Insulators become conductive electrically when 

a large amount of current applied that makes the 

protons flow away from the atom. 

C. Insulators become conductive electrically when 

a large amount of current applied that makes the 

protons to flow towards the atom. 

D. Insulators become conductive electrically when 

a large amount of voltage applied that makes the 

protons flow towards the atom. 

 

 

 

 

 

 

 

 

 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 19, Millwright Mechanic (Electrical/Electronic) 

Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Afternoon Session 
 

December 12, 2019  Page 25 of 28 

 

Q80. ए� �m@JलOि1 �? ?O�)?�) =Kल㉍िO� ]0? AP? 
 

A. �- �� -=I /?र? /े䜂 =Kल㉍?O� �oल?� ��0? �?,? :P �K �� 

�लO]रKo9 �K +1/?+I 9O .1ू �=?�:, �1,? :P, �ि㼂9IलO?9? 
==द♍0I,I0 9I�?ल� :K �?,O :ै䠂। 

B. �- �� -=I /?र? /े䜂 �1ि㼂? �oल?� ��0? �?,? :P �K �� 

�K?Ko9 �K +1/?+I 9O .1ू �=?�:, �1,? :P, �ि㼂9IलO?9? ==द♍0I,I0 

9I�?ल� :K �?,O :ै䠂। 

C. �- �� -=I /?र? /े䜂 �1ि㼂? �oल?� ��0? �?,? :P �K �� 

�K?Ko9 �K +1/?+I �I ओ1 �=?�:, �1,? :P, �o9IलO?9? 
==द♍0I,I0 9I�?ल� :K �?,O :ै䠂। 

D. �- �� -=I /?र? /े䜂 =Kल㉍?O� �oल?� ��0? �?,? :P �K �� 

�K?Ko9 �K +1/?+I �I ओ1 �=?�:, �1,? :P, �ि㼂9IलO?9? 
==द♍0I,I0 9I�?ल� :K �?,O :ै䠂। 

 

Q81. How are the cables classified based upon the number of conductors in the cable? 
 

A. Voltage rating of the cable and Construction of 

cable 

B. Low tension cables and High tension cables 

C. Belted Cable and Screened Cable D. Single core cable and Three core cable 

Q81. �O -ल /O �� )]ि1K �ी @�_0? �O  �??1 +1 �O -ल㉍@ �K =�@ ��?1 =�I�L - =�0? �?-? AP? 
 

A. �O -ल �I =Kल㉍?O� 1O�?ि㼂� �=ि㼂 �O -ल �I -0?=? B. लK ?े䜂>0 �O -ल㉍9 �=ि㼂 :?� ?े䜂>0 �O -ल㉍9 

C. -Oल㉍?O* �O -ल �=ि㼂 }्䵅Iि㼂* �O -ल D. स9ि㼂�ल �K1 �O -ल �=ि㼂 ,I0 �K1 �O -ल 

 

Q82. What are the electrical fault limiting devices? 
 

A. Generators, motors and switching circuit B. Transformers, reactors and switching devices 

C. Relay, fuse and circuit breaker D. Insulator, circuit and conductors 

Q82. ==oJ- /K? �+�1}K �K @I=/- �1)? ]0? Aै䠂? 
 

A. �01O?1, /K?1 �=ि㼂 �}=}�ि㼂� 9��? ? B. र?ि㼂9,?/?1, 91�]?1 �=ि㼂 �}=}�ि㼂� �+�1+ 

C. 91लO, o0�ू �=ि㼂 9��? ? }O�1 D. �o9IलO?1, 9��? ? �=ि㼂 �ि㼂 *]?1 
 

Q83. Where does the value lie for a low voltage circuit in a circuit breaker? 
 

A. It lies below 2000V B. It lies below 1000V 

C. It lies below 2500V D. It lies below 1500V 
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Q83. ए� @=�? ि ?O�1 /O =)्䵞 =Kल㉍िO� @=�? ि �O  =लए /?) =�-)? 1A-? AP? 
 

A. 0: 2000V �O  0I�O 1:,? :P B. 0: 1000V �O  0I�O 1:,? :P 

C. 0: 2500V �O  0I�O 1:,? :P D. 0: 1500V �O  0I�O 1:,? :P 
 

Q84. What happens if a voltage of about 0.7 V is applied across the base and emitter of the 

NPN transistor? 
 

A. A small voltage will flow between the two 

terminals 

B. A small current will flow between the two 

terminals 

C. There will not be any current flow between the 

two terminals 

D. There will not be any voltage flow between the 

two terminals 

Q84. ]0? AK-? AP 0=/ 0.7 V �? =Kल㉍िO� NPN र?�=�}ि1 �O  -O@ ए=� �=/ि1 @O AK�1 ल�?0? �?-? AP? 
 

A. .K ?स/?0ल �O  /o0 -K*? =Kल㉍?O� �=?�:, :K�? B. .K ?स/?0ल �O  /o0 -K*? �1ि㼂? �=?�:, :K�? 

C. .K ?स/?0ल �O  /o0 �K� �1ि㼂? �=?�:, 0:Iि㼂 :K�? D. .K ?स/?0ल �O  /o0 �K� =Kल㉍?O� �=?�:, 0:Iि㼂 :K�? 
 

Q85. The speed of an AC induction motor can be controlled by __________. 
 

A. Changing the number of poles B. Changing the speed 

C. Changing the resistance of the motor D. Changing the voltage of the motor 

Q85. ए@I ��)]>) /Kि1 �ी �=- �K _______ �?1? =)0�=}- =�0? �? @�-? AP। 
 

A. +Kल �I 9ि㼂_0? /े䜂 +91=,?0 B. �), /े䜂 +91=,?0 

C. /K?1 �O  �),1K/ /े䜂 +91=,?0 D. /K?1 �O  =Kल㉍?O� /े䜂 +91=,?0 

 

Q86. What would be the Synchronous speed when a stator is wound with a 3 phase windings, 

connected to 4 poles with the supply frequency of 50 Hz? 
 

A. Ns =1500 RPM B. Ns = 1550 RPM 

C. Ns = 1450 RPM D. Ns = 1400 RPM 
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Q86. �- ए� }िOि1 �K 3 ,O @ =?��=)�� @O =?�o) �1�O  50 Hz �ी]=O@I �ी @प⩍ल?� =?लO 4 +Kल @O �K=? �?ए -K =@m्䵅K)@ }+I) ]0? 
AK�I? 

 

A. Ns =1500 RPM B. Ns = 1550 RPM 

C. Ns = 1450 RPM D. Ns = 1400 RPM 

 

Q87. How do you define the Nominal operating Voltage? 
 

A. It is defined as the electronic and electrical 

system which operates at a maximum efficiency 

with a given supply voltage 

B. It is defined as the electronic and electrical 

system which operates at a minimum efficiency 

with a given supply voltage 

C. It is defined as the electronic and electrical 

system which operates at a maximum efficiency 

with a given supply current 

D. It is defined as the electronic and electrical 

system which operates at a minimum efficiency 

with a given supply current 

Q87. )K=/)ल ऑ+1O=ि�� =Kल㉍िO� �K �+ �P @O +र1.?=?- �1O�O? 
 

A. .I �� =Kल㉍?O� 9oल?� +1 
}/�,/ �/,? 9O �+1O? :K0O 
=?लO �लO]रK)0� �=ि㼂 �लO�]र�ल स9}?/ �K �:,O :ै䠂। 

B. .I �� =Kल㉍?O� 9oल?� +1 o0ू0,/ �/,? 9O �+1O? :K0O 
=?लO �लO]रK)0� �=ि㼂 �लO�]र�ल स9}?/ �K �:,O :ै䠂। 

C. .I �� �1ि㼂? 9oल?� 
}/�,/ �/,? �O  9?- �+1O? :K0O 
=?लO �लO]रK)0� �=ि㼂 �लO�]र�ल स9}?/ �K �:,O :ै䠂। 

D. .I �� �1ि㼂? 9oल?� +1 o0ू0,/ �/,? 9O �+1O? :K0O =?लO 
�लO]रK)0� �=ि㼂 �लO�]र�ल स9}?/ �K �:,O :ै䠂। 

 

Q88. How long does it take for the conventional VFD(voltage and frequency dependent) to turn 

off the inverter in order to start creating power? 
 

A. 100 to 200 milliseconds(ms) B. 10 to 20 milliseconds(ms) 

C. 10 to 12 milliseconds (ms) D. 100 to 112 milliseconds(ms) 

Q88. +?=1 =)/??} �?1म⹍. �1)O �O  =लए �m=O>)ल VFD(=Kल㉍िO� ए=� �ी]=O@I )I+O)Oि) �)=ि?1 �K -m/ �1)O �O  =लए =�-)? @/0 लO-? AP? 
 

A. 100 to 200 स/लI9O�o*(ms) B. 10 to 20 स/लI9O�o*(ms) 

C. 10 to 12 स/लI9O�ि㼂 *(ms) D. 100 to 112 स/लI9O�o*(ms) 

 

Q89. What is the speed of an auxiliary rotor at no load? 
 

A. N = Ns1/Ns2 B. N = Ns2 

C. N = Ns1 D. N = Ns2/Ns1 
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Q89. =-)? .?1 �O  ऑ=]�ल1I 1Kि1 �ी �=- ]0? AP? 
 

A. N = Ns1/Ns2 B. N = Ns2 

C. N = Ns1 D. N = Ns2/Ns1 

 

Q90. In solar energy, which is the one that converts the sunlight energy into electricity? 
 

A. Photomagnetic cells B. Photocells 

C. Photoelectric cells D. Photovoltaic cells 

Q90. @L1 ��?? /O, =A ]0? AP �K @K0? �O  ��?> �ी ��?? �K ==oJ- /O -/ल-I AP? 
 

A. ,K?K/O_0O�?� 9Oल㉍9 B. ,K?K9Oल㉍9 

C. ,K?K�लO�]र� 9Oल㉍9 D. ,K?K=Kल㉍?O� 9Oल㉍9 
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